Transfer of Data including Buffers and Interrupts Mark Scheme
1. For the purposes of this answer I will assume that data is being transferred from the processor to the secondary storage.

Buffer is an area of fast access storage.

which can be filled by the processor and then emptied at slower speed by the secondary storage device…

Allowing the processor to continue with other tasks.

When the secondary device has used the contents of the buffer…

It needs to tell the processor that it requires more data…

This is done by sending a message to the processor, called an interrupt.
[4]
· Notice that the answer describes transfer of data from the processor to the peripheral. 

· Transfer in the other direction is equally valid and gives rise to a similar answer. 

· However, if the two answers are mixed together then it produces a confused, and often, wrong, answer. 

· This is why the first statement is important as it has set the parameters by which the question will be answered. 

· You don’t have to say this in your answer, but it makes clear what is being done.

· Also, there are more mark points than there are marks available.

· Hopefully, you are getting used to this because it is generally true in most questions. 

· In this question there are obviously two points for interrupts and two for buffers, but in order to get the marks you must make sure that the definition appears somewhere. 

· So, for the interrupt, you need to earn the last mark point, otherwise you haven’t defined what an interrupt is.
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